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ESTRA

> assume(t>0andt < le)
> r_zbqut(t{
Originally t, renamed t~:
is assumed to be: RealRange(Open(O),Open(1/2*Pi))
=> int(sqrt(sz-cos(t)2+sin(t)2+sin(t)4),s=0..1)
1 . cos{t~) 4
arcsinh cos{t~) (1)
2 cos(#~) [ (\/ sin(#-)2 + 1 sin(t~) )
-3 arcsinh[ cos{£~) ] cos(t»«)2 +J cos(t~)4 -2 cos(tm)2 +2 cos(t~)
J sin(t~)> +1 sin(¢~)
+2 arcsinh[ cos(s-) ] ]
i Jsin(=)* +1 sin(#~)
> int(%,t=0..£21)
[ 1 (arcsinh( cos(¢~) ) cos.(tw)4 (2)
o 2ieosi) Jsin(t)2 +1 sin(t~)
-3 arcsinh[ cos{#) ) cos.(tw)2 +\[ (:os(tm)4 —2 cos(t»«)2 +2 cos(i~)
Jsin(e)2 41 sin(t~)
+2 arcsinh[ cos(#~) ]) di~
i J sin(t~)% +1 sin(#~)
(> evalf (%)
] 1.506803134 (3)
-> A=4%
A = 6027212536 4)
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